® Part | General Awareness

1. Government approved an investment of ¥ 3120 crore for boosting
urban infrastructure in 102 cities across five States. These States are

& Andhra Pradesh, Nagaland, Meghalaya, Rajasthan, Guijarat
2. West Bengal, Odisha, Karnataka, Kerala. Bihar

¢. Punjab, Himachal Pradesh, Rajasthan, Gujarat, Telangana
d. Maharashtra, Haryana, Punjab, Uttar Pradesh. Kerala

. Haryana, Chhattisgarh, Kerala, West Bengal and Telangana

2. BCSBLis an independent and autonomous institution to monitor and
ensure that the Codes and Standards adopted by the banks are adhered
to. What does BCSBI stands for in the financial language?

Business Codes and Standards Board of India :
Banking Codes and Standards Caode of India

Banking Codes and Systems Bureau of India

Banking Culture and Standards Board of India

Banking Systems and Systems Board of India

A payment bank cannot

accepl demand deposits

undertake lending activities

offer payments and remittance services

distribute non-risk sharing simple financial product
issue ATM/debit cards
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4. Name the Chairman and Managing Director of Dena Bank, who is
‘also the chairman of Indian Banks Association (IBA).

a. Shikha Sharma b. Arundhati Bhattacharya

c. Ashwani Kumar d. Rajeev Rishi

e. MV Tanksale

5. According to reports, the 7th Pay Commission has made a significant
recommendation to enhance the ceiling of gratuity from the existing ¥ 10

lakh to

a. ¥ 18 lakh b. % 20 lakh c. 25 Jakh

d. % 15 lakh e. Other than those given as options |

6. Australia defeated ........ .... by 2-1 to clinch the title of the 2014-15
Men’s FIH Hockey World League Final.

a. the USA f3. China . India

d. Belgium e, Russia k

7. In a blockbuster merger deal, Plizer Inc is all set to take over

a. Allergan Pic b. Biogen |
. Other than those given as options d. Gilead Sciences. Inc.

&. Genentech, Inc. 3



‘ﬁmﬁ;ﬁg‘j ﬂiﬁf country whose President will be the
s the Republic Day Parade in 20167
4 EUSA b UAE ¢. France
e &, Poland -

i i

9. The Union government had recently informed
e At preie Court that it had accepted
“ommission’s recommendation to allow
}@JDHFRQEIdEﬂt Iﬂdiﬁl”lﬁ to vote throueh
. of proxy. 5

; a. e-Ballot system B. cumulativ i

¢. condorcet method d. instant r'ur?—ggfi‘trc}%ing

- a. Other than those given as options
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10. Cash kept in the currency chest is owned by

a. Stale government B b hest
. Currency chest branch bank
¢. Reserve Bank of India e éank t branch ban

e. L ead bank

11. What does FATCA stand for in financial
patlance?. -

a. Foreign Account Tax Compliance Act
b. Forex Account Tax Compliance Act

¢. Foreign Account Total Compliance Act

d. Foreign Agencies Tax Compliance Act
e. Forelgn Account Tax Companies Act

12 ’W_hat is the maximum period for which a term
~ deposit can be normally opened?

a. 18 years b. 20 years c. 5 years

d. 10 years & 15vears

13. Which of the following institutions do not held a
banking license? |

a. Foreign banks b, Small banks c. Payment banks

d. NBFCs e. Commercial banks

14. Where was the first India International Science
Festival headed recently?

a. Indian Institute of Technology, Kharagpur
5. Indian Institute of Technology, Delhi

¢. Lady Shri Ram College, Delhi

o ISRO Headguarters, Bengaluru

= Indian Institute of Science, Bengaluru

15. Indiaand ............ have entered into a £ 2
billion pact with the creation of long-term ‘Climate
and Renewable Alliance’ for developing a clean
energy corridor. |

a. Germany
o Australia

b, United Kingdom ¢. Brazil
&, Other than those given as options

16. The erstwhile Imperial Bank of India is today's

= IDBI Bank h. State Bank of India
& Allahabad Bank d. Bank of Baroda
= Ceniral Bank of india

17. ... based journalist Zaina Ezhalm has
won the Peter Meckler Award for courageous and
ethical journalism. -

2 Lebanon b, Syria
d. Jordan a. lrag

- oodran

18. A cheque bearing a date earlier than the date on
which it is presented to the bank, is called a/an
cheque.

. b antedated
e. crossed

llllllllllll

a. slaie
¢, endorsed

¢, post dated

g, Kotak Mahindra Bank

i
1

19. What is the minimum initial deposit required for |

opening a Basic Savings Bank Deposit Account?
a. There is no requirement for any initial deposit.

B 3100 ¢ 1000
d. T 250 2. T500

20. ‘The Banker to Every Indian’ is the tagline of

a. Canara Bank b indian Bank
¢ Staie Bank of India o. Andhra Bank
e. Syndicate Bank
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21 ARl is a document from a bank
guaranteeing that a seller will receive payment m
full as long as certain delivery conditions have been
met.

3. Bid Bond Guaranise
c. Letter of Credit
e, Letter of Guarantee

b. Security receipts
d. Participatory Note

22. A banknote, of which a portion is missing or
which is composed of more than two pieces is called

a, Mutilated Note  b. Bad Noie ¢. Reusable Note
d. Other than those given as oplions e. Soiled Note

23. What is the capital of Saudi Arabia?

a. Arar b. Riyadh ¢. Abha
d. Dammam e. Mecca

 24. Which among the following is a money market

instrument?
a. Fixed deposit h. Debentures c. Equity shares.
d. Bonds e. Commercial paper

25. ‘Smart Vault’ is a digital locker facility of which
bank?

a. Bank of Baroda  b. Yes Bank ¢. Axis Bank
d. ICICI Bank ¢. State Bank of India

26. Under Sukanya Samridhi Yojana, what is the
maximum age of a girl child to open an account?

a, 14 years b. 8 years ¢. 15 years
d. 12 years e, 10 years

27. Which bank in India has launched its first multi
currency contactless cards? .

b. Yes Bank

o, Axis Bank d. Bank of Baroda

e, Union Banx

28. Shishu, Kishore and Tarun are the offerings of
a. Pradhan Mantri Jan Dhan Yojana

b, Pracdhan Mantri Shiksha Yojana.

¢. Pradhan Mantri Avishkaar Yolana

d. Pradhan Mantri MUDRA Yojana

e. Pradhan Mantri Vatsalya Yojana

29, The RBI has kept the Cash Reserve Ratio

unchanged in its fifth bimonthly monetary policy

review. What is the present CRR?
8./ 5% b. 4% c. 6.75%
d. 7.75% e. Other than those given as options

30. The market in which long-term financial
securities such as stocks and bonds are bought and

sold is called

= Commodities market b. Money market
o Bank market d. Capital market
e. Other than those given as oplions
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31 Thr; securitisation and Reconstructon of
I“lnanmal Assets and Enforecement of Security
Inte: est ﬁ-.n.t came into force in the year
azops - B 2010

G ?DD4 d. ?EJDS

e EGDD Sl

37 DICGC isa Subh]d.lﬁr‘, Gf the RBI What is the o
full fmm of DICGC’? e .
a. Direct Jnﬁuranre and Creuﬂ Guardmee Cuupemirnn '

b. Direct Insurance and Credit Guarantee Corporation

¢. Other than those gwan as options

[ Deposit Insurance and. Clearance Guarantee Corporation
- e Depasit [nsurance and Credit Guarantee Corporation

33 When is the * World AIDS Day’ crlasew«f_d?

a. December 1 b, April 10
c. March 1 d. March 2
e. December 2

I was elected at the

2015-Commonwealth Heads of Government
meeting, as the next Secretary General of
LCommonwealth.

a. Patricia Scotland
¢. Dr. Ojambo
¢. Pius Psekwa

b. Kamalesh Sharma
d. Shirin Sharmin Chaudhary

35. What is the maximum tmmﬁpermd of Medmm
Term Deposit as per the Gold Monetisation Scheme
20157

a. B years
d. 10 years

36. The Union Cabinet recently (December, 2015)
has cleaned the proposal regarding the setting up of
six new IITs. Which of the following States is not
identified for the project?
a. Andhra Pradesh

c. Karnataka
e. Gujarat

. 2 years
e. 4 years

C. 7 years

B. Kerala
. d. Jammu-Kashmir

37. Who among the following decides the volume
and value of Bank notes to be printed in India?

a. Reserve Bank of India _b. State Bark of India
c. State government d. Finance Minister
e Gther than those given as options

38, - The SDR are supplementary foreign eachangﬂ
_ reserve assets defined and maintained by IMF What

dDEE- IMEF stands for?
- a [r‘ldrgeﬂmus Monetary Fund

b International Monetary Fund
g Internatmnai Money Fund

o dIndian Mc:nezary Fund
'. E Indlan Maﬂey Fur‘:d

39, The maturit y period of c:ertiflcate of deposits

- issued by banks ahmﬂd not be less than 7 da}rﬁ and

 notmorethan............ from the date nf issue.
A sx months .f - b. one year
. o twoyears g narje months

e e@haeen rmnths : i
4{1 The Pawl I{uf I’Ef:.tlval m a harv:u,t festival Df
b Meghalaya

: d Mrzumm
e Manrpur - :

Stand for?

41. Fmance Minister has launched two funds by
SIDBL The funds are IAF and SMILE. What dn::neq IﬁF

b. Indian Air force F_uﬂt?k .

a. India Agriculture Fund o
d. India's Applied _F:;;md""-:-._ e

c. india Achigvernent Fund
e. India 'ﬁspiratiaﬂ'F*md

42. The g-:wernment has recently Iaunched a
programme— GIAN in higher education, mmed at
tapping the talent pool of scientist and o
entrepreneurs. What is the full form of CL‘%N?

a. Global Incorporates of Academic Networks SRR
0. Globally International Academic Networks

¢. Gross Initiative of Academic Networks

d. Giobal Initiative of Academic Networks

e. Global Indian Academic Nation

43. According to TOPSOOQ, Tianhe-2 (or Milky
Way-2) supercomputer is the most powerful
machine in the world. To which country does it

belong?

a. China b. Germany

c. Russia d. South Africa

€. Japan .

44. ‘Speed Wallet’ is the mobile wallet launched by
a. Alrtel : b. BOB

c. PNB d. SBI

e. BSNL

45. Where is the headquarters of Reserve Bank of
India (RBI) located? -

a, Mumbai b Kolkata
c. Chennai d. Ahmedabad
e. Delhi

46. Indian filmmaker Kaushik Ganguly won the
newly instituted ICET-UNESCO Fellini Medal
Award for his film
a. Laptop

¢. Shabdu
e. Arekti Premer Golpo

47. Who is the current Minister for Labour and
Employment?

a. Dr. Najma Heptulla
¢. Uma Bharatj

e. Kiren Rijiju

0. Cinemawala
d. Apur Panchali

b. Bandaru Datiatreya
d. Manchar F'amkar |

48. The Human Resource Develo pment Nﬁmqtr:y
has constructed a 13-member export committee
exclusively on Sanskrit in its attempt to revive
interest in the ancient language. The LGH’[D‘HHEE will
be headed by
a. Ved Prakash

c. Smiriti rani
e. N. Gopalaswami

0. Ramesh Bhdrdwaf
d. Vivek: Debrr:}y '

49. LIBOR standsfor ............in fm'm{:mi Pd] lan-:e

a. London Interbank Offered Ratio
b. London International Offered Rat
¢. London International Offered H_atm

d. London Interbank Offered Rate

. London Internal E}’r'fert,frj Hdte

5ﬂ What is the currem:y c}f C erm rn 1}?

a. Pound b Yen
c. Doliar .d Taka
e. Euro e



55 by investing
spectively. At the end
the business, 4 and B

Eﬂﬂﬁaﬂd X 15000 re
2 2 0loRIls from the start of
vested an additional amount ¥ 2000 each and C
ew < 4000. If at the end of the year, the annual
what was B’s share in

.
2 18000, T 8000 an usine

d.32180 e. 72380

2. T2250 biX2475 ¢ %2070
Directions (Q. Nos. 52:56) S
- the given questions,

_5_--!".~.iiﬁié"-=¢-ﬂ:j Data regarding number of students studying in

{:otieges A, B, C and D in the year 2009, The
mentioned colleges offer courses in three
- streams only- Arts, Commerce and Science

bt :I'...r - 4

(if) Total student strength = Students studying (Arts +
Commerce + Science) |

s e B S L T P e e

tugy the table and answer

tudents studying  Students studying | students
in Arts (out of total| “Ommerce(out of | studying Science
: total student | ° (out of total

e strength) | student strength)
A .F- 20 5r i -
s o 20 | 750
o £ osieae 1040
D ) o 50 ‘ 960

— e A L T T ———

52.. What is the average number of students
studying Science in all the numbered colleges?

4. 8/9 0. 925 c. 800
a. 825 e. 820

53, Total number of students stiudying Arts and
Commerce together in college A is what percent
more than that in college B¢

a. 240% b. 150%

_ ¢. 180%
d. 250% a. 200% '

54. N;imbef of students studying Arts in college Cis
what percent of number of students studying Arts in

- college D? 1 1
2 ;
e ey c. 32 —%
a.21=% b.27=% o
. 30% g, 25% -

o

55. What is the total number of students studying
~Commerce in colleges C and A together? -

a. 2350 b. 1450 £, 2170
d. 2850 e. 3520

55What is the difference between the total
<tudents strength of colleges A and B together and
that of colleges C and D together?

.. .a. 2900 b. 2380 ¢. 3100
4. 3900 e. 1900

=~ While purchasing a flight ticket, Sonakshi gota
;fﬂliiéﬂgldjSCﬂﬁ n%c}f 20% on the fare but she had
o ?afﬁ? 12.5% service tax on the d.zspcc:fu nt'ed fa:re and
7 100 as convenience fee. If Sonakshi paid 3160 _ﬁg
the total fare, how much promotional discount d3

B, €580 ¢. %720

g. ¥ 750

® Part || Quantitative Aptitude

T T

58. A sum of money (% X) was invested for 5 years in |
a scheme which offers simple interest at arate of
12% per annum. The amount received after 5 years
was reinvested in the same scheme for the same
period. If the amount received after reinvesting for
the same period is ¥ 780 more than T X, what was the i
initial sum of money (¥ X) invested in the scheme?

a. ¥ 500 b. 3 400 c. T 550 d. £ 850 e. T 600

Directions (Q. Nos. 589-63) What wili come in place of
question marks in the given number seriesy?

5060791 96 67

a5 b. 7 &3 d. 8 e. 11
60. 05 15 3 5 75 ?

a. 10.5 b. 12.5 e L g, 12 e. 10
6136 20.12. 8 6 2 45

a5 B85 ol d. 4 e, 3
62. 9 20 63 256

a. 1285 b. 1474 c. 846 d. 725 e, 920
63. 73 ? 19 10 55 325 |
a. 43 b, 31 c. 29 d. 37 a, 47

Directions (Q. Nos. 64-68) In the following questions
two equations numbered | and If are given. Soive both the
equations and

. Give answer

alfx>y biftxzy cifx<y dilx=sy
e. if x = y or the relationship cannot be established

64. I.2x> +15x+22=0  I.3y"* +20y+25=0
65. 1.3x" —23x+44=0 ~ 11,3y* 19y +30=0
66. L x° By 160 I, 4y° ;-Z?y +35=0
67. L4x* ~19x+21=0  IL2y* -13x+21=0
68. 1.4x" —19x+3 =0 IL10y* +13y + 3_:-{}

69. The sum of side of a square and length of a
rectangle is 30 m and the sum of the side of the
square and breadth of the rectangle is 24 m. If the
length of the rectangle is twice its breadth, what 18
the respective ratio between the area of the square
and the area of the rectangle?

a9:2 h. 74 pogeh d.9:4 g7

70. The average of 12 observations is 8, later it was
observed that one observation 10 is wrongly writte:
a5 13. The correct average of observation 1s

a. 7 b 17.5 c.775 4.8 e.5

. Dire;ctiunﬁ (Q. Nos. 71-74) Each of the guestions beio

consists of a question and two statements numbered |

and Il given below it. You have o a‘gc{o’e‘whefhertﬁe da

provided in the statements are sufficient to answer the

guestion. Read botn statements and

Give answer , = |

2 if the data in staternent | alane &ré sufficient to answer the
question, while the data in ﬁtatﬁﬁ15nr I} alone are not., L
sufficient to answer the question :



53 _if__ H}E ;iata in statement Il alone are sufficient to answer the

. Question, while the data in statement | alone are not sufficient
lfthedata in statement | alone or in staterment Il alone are
ufficient to answer the question

. it the data in both the statements | and Il are not sufficient to
. answer the question

8. if the data in both the statements | and Ii together are

- ~necessary fo answer the question

71. In how many days A, B and together finish a
piece of work? =

L. A and B together can finish the same piece of work in
8 = days. B and C together can finish the same piece

_ iRt _
of work in13 o days. C and A together can finish the
same piece of work in 11 ; days. . |

II. The time taken by A alone to finish the same piece
of work is 24 days less than time taken by C alone to
finish the same piece of work.

72. What is the height of the cylinder? (in m)
L. The volume of the cylinder is 4158 m .
Il. The total surface area of the cylinder is 1485 m .

73. What is the marked price of the pen?

I. When a discount of 25% is given on the marked
price of the pen, the loss incurred is 10%. The cost
price of the price is ¥ 480. :

Il. The marked price of the pen is 20% above the cost
~ price of the pen.

74. What distance (in km) the boat can travel
downstream in 36 minutes?

L. The distance travelled by the boat upstream in 40
minutes is equal to the distance travelled by the
boat downstream in 24 minutes.

I1. The speed of the water current is 4 km/h.

Directions (Q. Nos. 75-79) Refer to the graph and answer
the given guestions. .

i 3R
300+
250
200

150
- 100
i 5&
o

—@— Appeared
- Passed

Nurmnber of Students

2005
320
- 240

2004
300
260

2002
200
[ 140

180

210

75. The ﬁumber of students who could pass the exam
in the year 2006 were 10% more than that in the

previous year. Only 75% of those who appeared in the

year 2006 could pass the exam that year. How many *
students appeared for the exam in the year 20067
a. 340 b. 336 . G idlg o Hoann e. 352

76. N%II‘HBIEI‘ of Stu.dents ~vho had passed the exam in
the year 2002 are what percent less than that in the

year 20037 -
a. 26 %% b. 25% 1

% d. 33%

st 41:55% e, 30%

3

- a. 20%

B

\a. 7 :29

77. What percent of students who appeared fu:;r
the exam in the year 2001 could pass the exam:

d. EEE%' ﬁ._?ﬂg% c. 75% . 60% e. 80%
a 3

78. What is the respective ratio of total I‘_lﬂ{‘l_“leI‘ of
students who appeared for the exam in the years
2004 and 2005 together and the total number of
students who could pass the exam in the same
years together? ' .
d.35:29 b.31:25 ¢€.28:20

79. What is the average number of students who
appeared for the exam in the years 2002, 2003
and 20047
a. 240

d:33:25 8351 .26

e, 260

H. 200 c- 150 d. 250

80. Vessel A contains a mixture of orange juice
and apple juice in the respective quantities of 16 L
and 4 L. Vessel B contains a mixture of orange juice
and apple juice in the respective quantities of 24
litres and 6 L. Mixtures from vessels A and B, are
both mixed together in vessel C. What is the
resultant percentage of Apple juice in vessel C7

b. 25% c. 10% d. 30% e. 35%

Directions (Q. Nos. 81-85) Study the following
information carefully to answer the questions.

In an office, there are three departments- HR, Finance
and IT. Out of the total employees in the office, 20%
are in Finance department. Qut of the remaining
employees 9/10 are in IT depdrtment and the
remaining are in HR department. Qut of the total
number of employees in IT department, 9/20 are
females. Out of the fotal employees in Finance
department, 30% are females. Qut of the total
employees in HR department, 4/5 are females. The
total number of female employees in the office is 1120,

81. The number of male employees in Finance
department is what percent of the number of
employees (both male and female) in IT
department? ' !

7 4 1 i 4
a. 16—5% b A7 =% C. 12<% d.18-% =94
. 9 3 3 QK 1e, 199,»’

82. What is the total number of male employees in
the office? : |

1380 . b 1694 e Maon . o imag s Yub

83. By what percent is the number of female

employees in HR dEP_al_‘tment more than those in
Finance d‘Epartmeni;?' |

2 2 g ; o
a.6=%  Db.4=%  Cc.B%  d5lo 1q

84. What is the respective ratio between nuiﬁber
of female employees in Finance department and
those in IT department? "

-6 28

: c:o =20
a5 27

d: 5 P3
85. What is the difference between the nuinber of
male employees in'HR department and those in IT
department?

a. 940 . 920 €. 910

d.950° e 930



= Sﬁ}; Eﬂjﬁle Iggnth of March, 20 14 Rashmi paid EMI 91. What is the difference between total number of
wh h?ﬁaﬁ é‘ﬁ of her monthly salary. The qualified candidates from States C and D together

nin gﬁa Iy she spent on shopping of groceries  and those who could not qualify in the competitive

-- 1es in the respective ratio of 4 : 3. She spent = exam from the same states together?

D000 o %?f‘ﬂPng of clothes. If in April, 2014, her 3674 b. 664 c. 682

_:.asad by 12%, what was her salary d.672 . e. 678

92. Total number of qualified candidates from States

b. 50000 :
e. ¥ 55000 . ?SEDGG B and E together 1s what percent more than the
) men L d _ . ' = number of appeared candidates from State A?
87 12m O a work in 18 days. They started 2. 1 1 4o I
?;‘Lﬁr]q:[;% tf_}get]_'le:[' and aftEI];-G dayﬂ 4: ﬂ'E_D]_“lE‘ J{}'ﬁnﬂd . 365% b- 335% . 2? g% o 42 -‘3—.-"&! -k Bﬂ'é‘ra
em, then remaining wor will
a9 d,;yg _ b. 1% days CDH:REIEE‘ 1::1 93. A boat takes 2 hours to travel 28 km upstream. If
.:i 16 Elays e 11days _ 2 the respective ratio between speed of the boat
- downstream and the speed of the boat upstream is

D'mctmns (Q.-Nos. 88-92) Study the pie- l’-?fﬂceffS ana 9 : 7, what is the speed of the current?

answer the questions.
Distribution of Total Number of Candidates who Appeared for a -
~ Competitive Exam from 5 Different States 94, Amay’s present age is 1.5 times of Himanshu's
| ' present age. If after 4 years, Amay’s age will be twice
- of Himanshu's age 4 years ago, what is the |
Total Number of - difference between their present ages?

Aﬂﬂﬂaredagﬂa;dzdates a. 13 yr b. 14 yr c. 12yr d. 15 yr e. 18:yr

a lkm/h b.25km/h ¢.3km/h d.2kmh e 35km/h

Directions (Q, Nos. 95-99) What approximate value will
come in place of question marks in the given questions?
(You are not expected to calculate the exact value.)

Distribution of Qualified Candidates (Out of Appeared

Candidates) from 5 Different States .95, 180.15%x17.98 -2% =2984
E | | _ " ag b. 14 e ge e. 16
 Total Number of 96. 40.02% of 225.9'+ 449.98 + 5.99 =2
Qualified Candidates : . a. 200 - h. 245 | c. 120
2400 d..225 e. 165 '
97. (859.98 —379.88) -+ 11.99 =7
| _ a. 30 b. 60 c. 40 d. 20 e. 50
- 88. I the number of male qualified candidates from :98. 5.24%3.99 +99.95=7" |
State A is 264, what percent of qu ahﬁed candidates gl e 17 d. 27 e.9
. e 99, 15.99% + 4,98% x 8.03 + 64.15 =7
a. 36% b. 4{3% c. 42.5% d. o B Al | | B 495 c. 520
89, What is the average number of candidates who  d. 610 e. 480
could not qualify in the Cﬂmpet‘twe SRR ﬁﬂm 100. The average of five observations x,, x, x,, x,
States C, D and E? | | : and x_, is 24. The average of first three observaimns |
.27 wbi2eb - C. 258 (x,,x, and x, )is 10 less than the average of last three
Uo7 =8 €. 468 - ’ observations {::. x, and x_). If the average of first
90, What is the central angle corresponding to two ﬂbsewahnns {r and x, )is 16.5, what is the value
number of qualified candidates from State B2 of the third observation (x, )
o 2 a. 24 b. 25 =g 20
8328 b.24.4 e d 14 e 19 -
d 24 5*‘“ e 288 | o S L

® Part Ill Reasoning
| Bil’;ﬂﬁﬂﬂﬁ (©. Nos. 101-105). Study the fa!fmwmg lﬂgl I'Nhat dGE?S the cnde ‘tI’ stand f{H‘ in the gven
s code languages
"-.:E'I-Mfﬂrmﬂm;ﬁ fowe i . a. and ' . b. Elther‘of' 'car ’{iEF][EIiﬂQ

n & certain code language, . c. Either 'nations’ or 'taxes’  d. to
nce' is written as ‘gh mk ru st
econo my and wealth bala o laxes

z;:f'%ﬁfeaith of nations depleting isw ﬂﬁi n a;:fd‘;lﬂ;f }D”’ 100 Wik of ihe fﬁﬂﬂiﬁn o may possibly réprﬂééﬁt
taves balance nations better’ Is written ~ ‘revive to’ in the given code language?
;_;;f:;jr to revive economy’ Is written-as 'br ht dj st ;im bt E’; 5t o - E ht co

EZE{AE! codes are two-letter codes only) dorht e, brdj




codelanpyape?r
dffi o Beelner mikor U e, gh

103. What is the cade for ‘economy’ in the given

ek

104w£}ﬁt15|7h? code for ‘balance’ in the given code
language? :
:::.53'{;'5'1 b. gh C. U

d. ak e, 7m

.105. Which of the following may represent ‘better
generate wealth’ in the given code language?

a fsghd b. dj mk gh c. ah '
. , :
d. gh fs mk €. Xs dj ak el

Direntinns (Q. Nos. 106-110) Study the foliowing
Information carefully and answer the given questions,
Eight persons-P, O, R, S, T, U, Vand W are sitting
around a circular table with equal distance between
each other, facing the centre but not necessarily in the
same order. Each one of them speaks a different
language viz. Hindi, Urdu, Punjabi, Tamil, Marathi.
Sanskrit, Gujarati and Bengali, but not necessarily in the
same order. :

S sits second to the left of the one who speaks Marathi.
Only two people sit between S and U. The one who
speaks Bengali is an immediate neighbour of U. Q sits
third to the right of the one who speaks Bengali. Only
three people sit between Q and the one who speaks
Punjabi. Only two people sit between the one who
speaks Punjabi and R. P sits second to the left of the

one who speaks Urdu. P does not speak Bengali. T sits

third to the left of W. Only three people sit between W
and the one who speaks Gujarati. The one who speaks
Tamil sits fourth to right of the one who speaks Hindi.
The one who speaks Hindi is not an immediate
neighbour of the one who speaks Marathi.

106. Which of the following statements is true
about V?

a. V is an immediate neighbour of the one who speaks Bengali.
b. V speaks Punjabi. '

€. Nonhe of the given statements is true;

d. V sits fo the immediate left of U.

. Only two persons sit between V and R.

107. Four of-the following five are alike in a certain

way based on their positions in the arrangement and

hence form a group. Which one does not belong to

that group? |
a. - Marathi h. Q-Gujarat] ¢. W-Hindi
d. V-Punjabi - e. P-Sanskiit

108. Who ammﬁgst the following is equidistant from
T and the one who speaks Hindi, when courited

from the left of the one who speaks Hindi?

111. In this question is given a statement followed
by two courses of action numbered 1 and I A course
of action isa step of administrative decision to be
taken for improvement, follow up or further action
in regard to the problem, etc. on the basis of the
information given in the statement. You have to
assume everything in the statement be true and then
decide which of the suggested course of action
logically follows for pursuing?

Statement Annual results of school G are school is
unable to hire adequate number of teachers are
continuously falling from past three years as the
school is unable to hire adequate number of teachers
due to lack of funds. .

Course of ActionI School G should increase the
fees of students by 30% in order to generate funds for
hiring new teachers.

Course of Acon II  Classes of school G should be
divided into two shifts and should be continued with
the existing teachers.

a. Either course of action | or Il follows

b. Neither course of action | nor ll follows

¢. Only course of action | follows

4. Only course of action 1l follows

e. Both courses of action follow

112. Read the given information and answer the
question.

‘Students of country X go abroad for higher studies
despite having some excellent universities in their
own country. In fact, there is no benefit but just the
hype of studying abroad that encourages students to
do so ‘— Statement by the General Secretary of

students’ association of a college in country X,

Which of the following strengthens the statement of the
General Secretary that students do not benefit from
studying abroad?

a. Getting some admission in some good universities of
country X is next to impossible as more than 55% of seats
are reserved seats and most students comipete for the seais
which are not reserved. :

b. Statistics suggest that more than 55% students of country X,
studying abroad either accept medicore jobs or return to
country X after completing their course due to lack of job
opportunities. .

c. Country X provides a number of scholarships for students in
almost all the fields in order to ensure that all students get
equal opporiunity to finish their higher education.

d. The fees charged by a few universities of country X is much
less than the fees charged by many universities abroad.

e. Some good universities of country X conduct entrance
exams which are more difficult to clear than the enirance
exams conducted by universities around'the world.

113, Read the given information and answer the

- a. The one who speaks Marathi b. Q i
¢. The one who speaks Guijarati d R ! ! -
Al 5 j Three aeroplanes of Airline-L had to make an
e e i {s Sanskiil? emergency landing in the past four months due to
109. Who amongst the following speaks canskrit: technical glitches. As a result, the popularity of the
aR - OF c.l Skl e. S airline degli11§d. d?*agtiﬂally. Also many people
. | s e cancelled their existing bookings at a short notice and
110. Mmﬂ?amﬂﬂgﬁt the following sits third ¢ are paying double the fare to the competitor
right of W , companies instead.
a:N g lﬁ} ‘Which amongst the following options would be the best

c. The one who speaks Urdu

| | decision for the Airline in the present scenario?
e The one who Speaxs Tamil f ’



T does not like Mango, U was not born inthe same

a. Mﬁking'ii‘é %ai‘e cﬁe_aﬂer tha
L o -
o et
VR o oo e e 002
¢, ﬁdﬁ?ﬁ?@ﬂn& cinecks for ensuring safety and advertising

“ "3‘ Firing its old t_i—:*r;hﬂéﬂa! staff and hiring new staff instead.

n the market rate to ensure that

114, If the expressions ' R>U=N2>% and A>N>D

. aretrue, which of the following conclusions is

definitely true?
a-R=0 B LS A c D=8
e U<0O

-~ .ﬁT.ﬁ.{EH -

115. Study the given information carefully to

answer the given question. '

Since its launch, “Tnrice-Spice’ restaurant chain to city

- X has earned accolades from each of its visitors. After
~almost a year of successful service, "Thrice-Spice’ has

been nominated for the ‘Best Restaurant of the City’

e -:ﬁward'.-' But, against the expectation of many people,
itlost the award to a newbie in the market.

 Which of the following can be the major reason believed
regarding the award?
2. The restaurant that won the award is a multi-cuisine
. restaurant and offers a much wider variety than 'Thrice-
 Spice’, =
_b. The first month profit of the new restaurant was higner than
- that of "Thrice-Spice’, which according o sorme people is
because it threats its customers to Karaoke. '
¢, The sale of ‘Thrice-Spice’ in the last month was a littie lower
than the winning restaurant due to its weekend discount
-offers in the said month.
d. Though the winning restaurant has only one outiet, unlike
. 'Thrice-Spice' chains it's located in the nearl of the city.
e. ‘Thrice-Spice’ rernains closed on every Wednesday, whereas
- the other restauranis of the city are open throughout the
S week

- "__j-«Di'r&cﬁ'ﬁriS,(@. NMos. 116-120) Study the folfowing

information and answer the guestions.

_ Fight people P, Q. R, S, T, U, Viand W were born in three
~different months (of the same year) but not necessarily

i the same order, namely March, June and December
 +ch that not Jess than two people and not more than

three people were born in a month. Each of them also
likes a different fruit namely Guava. Peach, Banana,

- __'._Shef_fy,..Maﬂgg, QOrange, Kiwi andfﬂp;ﬁie’_but _!j_t}t.
 necessarilyin the sameorder. = W
Only Q and W were born iri March. R likes Appleand

_ was born in the same month as T. R was not bornin
_ December. The one who likes Mango was botn In June.

 fiorth a5 T S likes Chenry and boin in the Saime month
 as U, V. does not like Mango. The ohe who likes Kiwi and

116. As per the-'.gi_{reﬂ' arrangeme

 who were born il December?
vy purT oY,v . B

 of the given input?
~_a. 41 train and omifs, 36

¢ 12, lakes and omits, 36
6. lakes, 41 and 59, omits

¢ Second

ﬂf i o .iﬂ' PJ 8.- e Thegiven order of elements is not found iri any siep.

117. As per the given arrangement, which of the
following persons represent the one who was born
in the same month as the one who likes Orange?
a.u b.P o R d. T e W

118. Which of the following fruits does T like, as per

the given arrangement?

a. Orange b. Peach - c. Guava
d. Banana e. Other than those given as options

119. Which of the following combinations is correct,
as per the given arrangement?

a. December- Peach b. June-Orange ¢. June-Banana

d. March-Guava e. December-Banana

120. Who amongst the following likes Peach, as per
the given arrangement?
a. P b.V ¢ U

Directions (Q. Nos. 121-125) Study the following
information carefully and answer the given questions,
When a word and number arrangement machine is
given an input line of words and numbers, it arranges
therm following a particular rule. The foliowing Is an
illustration of input and rearrangement. (All the
numbers are two-digit ﬁu‘mi:rera}

Input 41 sprain 10 early 97 noble 26 65 ankle death
Step | 97 41 10 early noble 26 65 ankle death sprain
Step Il noble 97 41 10 early 26 ankie death sprain 65

Step lll 41 noble 97 10 26 ankle death sprain 65 early
Step IV death 41 noble 97 10 ankle sprain 65 early 26
Step V 10 death 41 noble 97 sprain 65 early 26 ankle
Step V is the last step of the above arrangement as the
intended arrangement-is obtained.

As per the rules followed in the given steps, find out the
appropriate steps for the given input. |

Input ~ omits 36 59 yards 41 elect train 12 lakes 85

a W g F

121. Which element comies exactly between ‘85" and
‘lakes’ in Step III of the given input? -

8. 09" b,yards  c.lrain d. omits . €. eié;t

122. If in the first step, 59 i11terth&11_ges_it$ pr:isi_tirjn:

~with ‘lakes’ and ‘omits’ also interchanges its position
. with ‘12’ then which element will be to the e

immediate left of 41?2

a. 59 b omits ot oA d. elect - a.'1af!%es .:'
123. Which of the following combinations represent

the first two and the last two elements in the Step V.

_ 'i':.j' 12, lakes and 36, elect
. d.lakes, 41 and 36, elect

 the ohe who likes Banana were born in th"_e_ sa_tfrj't_e month, 124. Which element is fourth to the right of the one
The one who likes Kiwi was not born in the same month

asW. LI does not like Kiwi, The ong who likes Guavgl_ was
_ born in the same month as P. Q does not like Peach.

~ which is ninth from the right end in Step V of the
_piveninpul? - --
a3
at which of de 125*_ ' ﬁfu__f-wﬂ;h step are the eie_nie'ﬁtsl "train 85 }zﬁ;‘_ds'_
- -fﬂ]iﬁwing-mﬁibiﬂaﬁmnﬂ-_repre*&éntﬂ mﬂ}rthg_-pééﬁ_p}é L 59' found in the sameorder? -

" byads c8  deect ef2

o Fifth

=

- - 1oy
¥ R R LS e it e e T g




Directions (Q. Nos. 126-130) Study the given
"‘F{?ft?_{g’f?‘?a_i{jﬂﬂ. carefully to answer the given questions.
ﬁ'%ﬁ{ﬁ_:ﬁp&g;p:ie A, B, C, D, E Fand G were appointed

10 a company on seven ditferent days of the same
‘week starting from Monday to Sunday (but not
necessarily in the same order). Each person also
plays a different game namely-Cricket, Hockey,
rootball, Squash, Volleyball, Tennis and Kho-Kho.
out not necessarily in the same order.

Only two people were appointed after the one who
plays Hockey. E was appointed on one of the days
after the one who plays Hockey. Only three people
were appointed between E and G. Only one person
was appointed between G and the one who plays
Volleyball. A was appointed Immediately after the
one who plays Volleyball. Only three people were
appointed after the one who plays Kho-Kho. C was
appointed immediately after F, but not on Friday.
Only one people was appointed between F and the

one who plays Cricket. B was appointed immediately

after the one who plays cricket. More than two
peopte were appointed between D and the one who
plays Tennis. E does not play Football and Tennis

126. Who amongst the following was appointed
on Wednesday?
a. The one who plays Kho-Kho.

b. A - c. B
d. The one who plays Cricket. e, F

127. Which of the following statements is true as

per the given arrangement?

a. Only one person was appointed between F and the one
who plays Sguash.

5. Only three people were appointed before C.

c. A plays Tennis. |

d. B was appointed on Saturday.

e. None of the given options is true.

128. The person who plays Tennis was
appointed on which of the following days?

a. Thursday b. Tuesday €. Sunday
d. Monday e. Saturday

129. Which of the following combinations will be

definitely true as per the given arrangement?

a. C-Sguash b, Thursday- D
c. Saturday-Cricket d. Monday- Volleyball
e. F- Kho-Kho

130. How many people were appointed
before G? |

a. Two b. One

¢. Three d. Four
e. None, as G was appointed on Monday

131. Which of the following symbols should be
placed in the blank spaces respectively (in the
same order from left to right) in order to
complete the given expression in such a manner
that both ‘D >5" as well as 'E <B’ definitely

holds true?
D

i
=
1=

¥ )

B A _5

=)

Ty
ARV

T

<
oy
| i, |
'\-\:_{ {'a {:
_l'iw'

ther ’[I‘_TEH those given as options

A% |8

D 0 o
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Directions (Q. Nos. 132-136) Each guestion consists of a
question and two statements numbered | and Il given below
i, You have to decide whether the data given in the
statements are sufficient to answer the guestions. Read both
the statements and

Give answer

a. If the data in statement | alone are sufficient io answer the
question, while the data in statement |l alone are not sufficient to
answer the guestion

b. if the data in statement Ii alone re sufficient to answer the
question, while the data in statement | alone are not sufficient to
answer the question

c. if the data either in statement | alone or in staterment Il alone are
sufficient to answer the question

d. if the data even in both statements together are not sufficient to
answer the guestion.

e. if the data in both statements together are necessary to answer
the question

13Z2. Among buildings |, K, L, M, N and O (each
building is of different height), which is the tallest?
1. M is taller than | and O but shorter than K. N is taller
- than M but not the tallest. K is not the tallest.

I. K is shorter than only two buildings. | is shorter than
M and K but taller than O. N is taller than J.

133, Whatis the direction of M with respect to K?

I. Kis 8 m to the East of 5. Q is to the North of S. Pis 4
m away from Q. M is 2 m to the North of P -

1. M is 12 m to the West of . Q is 6 m to the South of M.
K is to the South-East of Q.

134. How is P related to M?

I. M is the wife of C. M and I are the only children of R.
G is the only daughter of C. P is the grand-daughter
of R. 2 |

1. GG is married to L. M is the mother-in-law of L. M is
the only daughter of R and A. P is the grand child
of R.

135. Five people M, N, O, P and Q live on five different
floors of a building but not necessarily in the same
order. The lowermost floor of the building is numbered
one, the one above that is numbered two and so on il
the topmost floor is numbered five. How many people

Tive between M and Q?

1. M lives on floor numbered three. Only one person
lives between M and P. N lives on an odd numbered
tloor immediately above Q. | o

II. O lives on an even numbered floor immediately

below M. Only one person lives between O and Q. N
lives on the topmost floor. :

136. Six people are sitting in two parallel rows
containing three people each, in such a wa y that there is
an equal distance between adjacent persons. In row-1,
U, Vand W are seated and all of them are facing south.
Inrow-2, P, Q and R are seated and all of them are
facing north. (Therefore, in the given seating
arrangement, each member seated in a row faces
another member of the other row.) Who sits at extreme
left end of row-27

. V sits at one of the extreme ends of the line. Only one
person sits between Q and the one who faces V. P is
an immediate neighbour of Q.



13?¥I‘lwhmh of these ex
' definitely false?

a.S>Pz2Q=G=2R>V

c. V<AsL=R<S

e S>T=02P: V<l=p

Directions (Q. Nos. 138.149)
two/three statements followed by two conclusions
n.:l,.-rmﬂerea’ Land Il have been given, You have to take the
given Statements to be true even if they seem to be at
vanance from commonly known facts and then decide
which of the conclusions logically follows from the
statements disregarding Commonly known facts,

Give answer

- a. It only conclusion | follows

b. it only conciusion l foljows

¢. it either conclusion [ or || follows

d. if neither conclusion I nor |l foliows

e. it both conclusions follow

pressions ‘S > V’ he

b. P<A<S<T:V>0>T
d.5>C>F <H: VeF

In these questions,

138. Statements No number is a digit.

All digits are fractions,
-Some fractions are integers.
Conclusions I Atleast some digits are integers.
Il All numbers being integers is a

possibility,
139. Statements Some seconds are minutes.
] All minutes are hours.
Conclusions 1. Some seconds are hours.
II. All seconds are hours.

140. Statements No number is a digit.
All digits are fractions.
Some fractions dre integers.

Conclusions 1. All fractions can never be numbers,

[I. Some integers are definitely not
numbers.

141, Statements All flaws are errors.
Some errors are mistakes.
Some mistakes are blunders.

Conclusions 1. All flaws can never be mistakes.
II. At least some blunders are errors.

142, Statements All flaws are errors.
| Some errors are mistakes.
Some mistakes are blunders.
Conclusions [ All flaws being blunders is a
' possibility.
[1. No erroris a blunder.

143. A new apparel store has been opened by a

telecom company XYZ, from which customers have .

very high expectations. | |
Which of the following statements can be inferred from the

Previously operated in telecom industry only.

Expansion is the best strategy to have competitive edge in
the market,

c. Tobe successful in an expansion, one needs to be a leader
telecom industry.

d. XYZ has already established brand name in the market
through its telecom business. '

e. XYZ's Sapparel store offers premium products for
youngsters only.

& o

144. In this question there are two statements (A)
and (B), These statements may either be
mndependent causes or effects of ind ependent
causes or a common cause. One of these statements
may be the effect of the other statement. Read both
the statements carefully and decide which of the
given answer choices correctly depicts the
relationship between these two statements.

A. Despite giving their best performance, more than
100 employees of XYZ Pvt. Ltd. have been laid
off.

B. More than 40% employees of XYZ Pvt. Ltd. who
have crossed the age of 50 years have been asked
to take voluntary retirement from their services.

a. Statement A is the cause and statement B is its effect.

k. Statement B is the cause and statement A is its effect.

c. Both statements are effects of independent causes.

d. Both statements are independent causes.

e. Both statements are effecls of some common cause,

145. This question consists of a statement followed
by two assumptions numbered I and II. All
assumption 1s something supposed or taken for
granted. You have to consider the statement and the

+ tollowing assumptions and decide which of those

is/are implicit in the statement.

Statement ‘Due to inadequate rainfall this year, the

harvest obtained by farmers of village C is 50% of

what was expected. As a result this year we will be

buying the crop from village Z as it is been

convenient and cheaper for us fo buy the crop from

the farmers of one village rather than buying it from

farmers of different villages.” — Statement by a |

distributor

L. At least some farmers in village Z produce the

same crop as farmers in village C.

IL. The harvest in village Z was much more than
expected.

a. Both | and |l are implicit.

c. Only | is implicit.

e. Only {l is implicit.

b. Either l'or Il is implicit.
d. Neither | nor 1l is implicit.

Directions (Q. Nos, 146-150) Study the given

information carefully to answer the given questions.

cignt people- M N, O, P, Q, R, S and T are sitting in a

straight line with equal distances between each other,

but not necessarily in the same order. Some of them

are facing North and some are facing South.

» M sits at one of the extreme ends cf the fine. Only
three people sit between M and S. Q sits exactly,
between M and S. T

« T sits third to the right of Q. N is an immediate

given statement? (An inference is something by which you . peighbour of T and faces South. O sits second to the
5 |

can logically deduce something to be truc based on
known/given prentises.)

right of R. O is not an immediate neighbour of 5.



Immediate neighbour of S face opposite directions
| U if one neighbour faces North then the other
| neighbour faces South and vice-versa). Immediate

| HEEthGUTS 01 R face opposite directions (L.e. if one

| Neighbour faces North then the other neighbour faces
~ South and vice-versa),

1l © Mand P face the same direction as O (e, if Q faces

¢ North then M and P also face North and vice-versa)
Both the immediate neighbours of Q face South,

1| 146. In the given arrangement, if two pés}ple come

and sit to the immediate left of Q, how many people
will sit between R and O? | i '

a. Two b. Three

: e
d. More than four ~ e, One i

. 147, Who amﬂnlgst the following sits thir
right of R? ng sits third to the

aMm b.Q
¢. Other than those diven as options
d.-N G e S

148. How many people face North as per the given
arrangement? |

d. [wo
a. More than four

2. Three
e, One

¢ Four

149, Four of the following five are alike in a certain
way based upon their seating arrangement and so
form a group. Which of the following does not
belong to the group?

a. Q0 b. MR
d. DS S

¢. NR

1‘50- Who amongst the following sits at extreme
right end of row?

a. QO b. R o d. P e M

® Part IV English mﬁ"ﬁagmg@

| Dllrectlml'iﬁ_ (L. Nos! 191-1868) Which of the phrases
given against the sentence should replace the
word/phrase given in bold in the sentence to make it -

| g{ammaﬁcaffy correct? If the sentence is correct as it js
given and no correction /s required, select ‘No correction
required’ as the answer, '

151. Complying the Foreign Account Tax

Compliances Act which was passed in the US in
- 2010, mutual fund investors have to submit

declarations and KYC details. '
 a. Comply with . In order to L:r:}mply with

¢. By complying d. Inspite of complying

e. No correction required ! -

152. When BRICS countries faced opposition to
reforms, they pursuit change by establishing new
institutions such as the Asian Infrastructure
Investment Bank.”

a. their pursuit of change

¢. their pursuit changing
e. No.correction reguired

2. they pursued change
d. they were to pursuit changes

153. Knowledge centres being much useful in
disseminating information pertaining to weather
and crop price and also benefit students as they can

~ look up exam scores; learn skills and look for
employment. ; |

a. are more usefully
¢. have much to use
e. No correction reqguired

- b. being of much use
d. are very useful

154. Experts believe that it is utmost important that
staff be trained to take adequate security precautions
to avoid cyber attacks.

a. utmost importantly
c. mostly toc imporiant
2. No correction required

b, most importance
-~ d. of utmost importance

155. It can be difficult to impart financial know how
ata }rﬂuﬁg age but in developing countries financial
literacy among the young are quite well.

a. is quite good b. are getting better

. have been good d. will be best

&. No correction required : ,

T o e R R s R SR

Directions (Q. Nos. 156-160) £ach sentence has two
blanks which indicate that something has been omitted.
Choose the words that best fit the meaning of the
sentence as a whole. '

156. Each country must realise that it has played a
s s in global warming and should embrace its
responsibility to ............ this problem.

a. joke; reduce B. hunch; improve

c. role; arrest d. part: recover
e. card; strengthen

157. Micro credit institutions in Guatemala provide
loans along with free advice and training in how to .
..... ....... use the money and this ............ farmers
boost their productivity and income.

a. best; helps b, well: enables

c. better; encourage d. important; makes
e. often; urge |

158 s . ..o that we don’t have to wait for
enormous economic growth to improve society, as
even small steps such as financial inclusion can bring
ADOUE . oonimnias progress. |

a. realised; any b. likely, remarkable

¢. true; tremendous ~ d. appropriate; significantly
e. certainly: superb :

159. These relaxations in guideimes are = il
only to long-term borrowings and RBI wi
keep a check on short-term borrowings,

a. given: continue b. made; necessary

C. valid; ensure : ﬂ-'QTEHtEd; he
e. applicable; sijll

------------

160. Today we .......... . computers with data and
get them to use probability to infer an provide us
with recommendations and '

4. entgr; result b. feed; smluﬁaﬂs
c. lype; answer

. d. key; algorithms
e. provide; outcome - .

‘Directions (Q. Nos. 161-165) Rearange the given six
sentences A, B, C, D, E and F in a proper sequence so as
fo form a meaningful paragraph and then ans wer the
given questions. .



A Inaddiion, the government wants to boost ‘shared 161 Which of the following should be the
. ownersiup where people buy a chunk of a house and

2w . . SECOND sentence after the rearrangement?
~ pay therest (with the option to buy itin full later)and 4 g b. A c:gE
 the hope is that 135000 such homes will be built. d. D e. F .

B. The construction of homes in Britain h
its long-term trend since 1990 162. Which of the following should be the
C. These two plans are not wi ot e i hatki-cig FOURTH sentence after the rearrangement?

as been below

of which is housebuilders will be encouraged to tr 2D o
provide hﬂUSF{S to buy rather than to rent which will o i
bea PIDblEH‘I for low-income families for whom 163. Which of the following should be the FIRST
putting together a deposit is tricky, sentence after the rearrangement?

D. The government has proposed building 40000 a C b. A c. B
’affnrdalrjle" homes by 2020 which would bring Britain & E | e. D
ﬁg}iﬁ;{:;i ?ljéaé;ar%il }f' ; S?_GH?D z }"‘5'1&.'7 "-"-fhiﬂh- it 164. Which of the following should be the

L e A NOUSIing praces i chiedlc THIRD sentence after the rearrangement?

E. Moreover the Prime Minister has merely mentioned o 0 b B A
these reforms in his speech but has offered no details ;' D o, E B
and until the changes are more concrete efforts to | |
delicate the housing bubble will not get far 165. Which of-the following should be the

E Since 1990 prices too have risen by 60% in real terms, 211 (LAST) sentence after the rearrangement?

faster than most other rich countries. a. & b. B c. A

o 1 e F

Directions (Q, Nos. 166-180) Read the follo wing passage carefully and answer the questions given. Certaln

woras/phrases have been given in bold to help vou locate them while answ fing some of the questions.

Tastes have changed in the land of traditional tea drinkers. A generation aco few Japanese had sampled coffee By

the cup, let alone by the tub-full, Now Tokyo alone has soeme 16000 coffee houses; the nation, more than 100000,

Japan's yen for coffee requires plenty of yen these days—the equivalent of $ 1.50 a serving. For those who find

indoor prices too steep, platoons of curb side vending machines dispense coffee for about 50 cents a can, hot or

cold according to the season.

From humble beginnings as both food and drink for African tribesmen, coffee evolved into a giobal phenomenon of

extravagant proportions. Among natura! commadities in international trade, coffee usuaily ranks second only to

petroleum in dollar value, accounting for 12 billion in 1979, All 50 exporting countries-led by Brazil, Colombia,

Indonesia, and the Ivory Coast rely on coffee as a major source of foreign exchange. Some 25 million people depend

on it for their livelinood. And uncounted millions down it by the pat-full, This adds up to an amazing piece of action

for a peanut-size bean whose sole purpose on this planet is fo provide a virtually nutrition-less beverage made mildly

stimulating by the caffeine it contains—75 to 155 milligrams per cup. -

Unlike Brazil, which grows a third of the world's supply—some five million tons last year—and drinks a third of what

it raises, most producing nations consume coffee sparingly. The bean brings more leaving nome than staying there.

t's not their addiction to caffeine doses heavily sweetened and darkly brewed—that gives Brazilians the jitters.

Rather, it's the chilling thought of a killing frost, which, in 1875, damaged nearly half of the country's three billion

coffee trees and sent retail prices into orbit. : :

Another such disaster loomed in June, 1879, Frost had again hit southern Brazil, The loss of a single tree means the

loss of income on that spot for the three to five years it takes to replace it. Multiply that by the 15 million trees, and

you can appreciate the concern. At Pirajui, an hour's flight inland, the cold wave had already blackened large

swatches of trees. Atalla's workers, bleary-eyed, toiled into their third sleepless night, burning oil-scaked sawdust

and saltpetre to-smudge vulnerable areas with warming smog. The Atallas, pioneers in this process, saw their

efforts payoff in rescued trees. The only major export country susceptible to frost, Brazil, suspended all shipments
ending assessment of damage. And uneasy importers, fearing a shortage, went on a buying spree. Inevitably,

orices rose, even though Brazil's actual losses fell far below the first dire predictions,

Several international experts summed up coffee's swings in much the same way. "We have long periods of low

prices, short periods of high ones. When highs occur, farmers rush in to plant. Once the tree begins bearing, it

churns out beans without too much effort for the 12 to 30 years of its normal life. Overproduction follows; prices fail.

Farmers tear up their nlants and put in more stable crops- A dislruptil:jﬂ i,rj cmﬁee supplies starts the cycle all

over again.' Producers and consumers agree that the only SE!I“ESIWE- EDI|L!EDFI 15 1o limit output to what the market can

absorb, plus a standby reserve, and sell at prices reasonable to both sides. But what's reasonable?

Sinee 1963, 24 import and 44 export countries have cooperated through their London-based International Coffee

Organisation to stabilize the situation. By imposing a r_qu{:rt_a %ystem! they can iultr}if the outflow of beans frﬂrﬂ

producing nations in times of oversupply. Thﬁese controls, in torce to susr'tam prices only until the market does so

normally, have been applied twice: from 1963 to 19?3 and aggm In Dﬂtfﬂer' 1980, . ,

Despite yo-yo conditions and a 100% increase in living _cmsts in the Urmgd States over the past decade, coffee

remains one of the least inflated prepared beverages: five cents a brew-it-yourself cup.
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L 16}” Whlch of the fﬂl]ﬂWlﬂg sentences is > true in the

| context of the passage?

a. Prices of coffee remained relatively stable in the US despite
ihe increase in cost of living in the country.

| b. Coffee is losing its demaﬂd an acr:aunt of its increasing price
- worldwide,

¢. Brazil is the only country that grows and exports coffee.

d. Only half the coffee manufactured is fit for export to other
countries.

e. None of the given statements is true.

168. The characteristics of coffee as mentioned by
author of the passage includes

A. propensity to get addu:ted to it

B. its high nutrient content

C. its global economic standing

a. Only A b. Only C
d.AandC e. All of these

c.Aand B

169. Which of the following is most nearly the same
in meaning as the word ‘Down’ as used in the
passage?

a. Consume b. Throw e. Climb

170. Which of the following can be a 51,ui:able title
for the passage?

a. The History of Coffee Making

&. Brazil's Batlle with Coffee Imports

c. Coffee Today-Gone Tomorrow

d. Plummeting Demand for Coffee the World Over
e. The Dynamics of Cotfee

¢, Fall d. Lose

171. Which of the following is most nearly the same
in meaning as the word "Dire’ as used in the
passage?

a. Obtuse e. Shredded

b. Terrible c. Llrgent d. Torn

172. Which of the fﬂHDwmg is most neatly the
opposite in meaning as the word 'Steep’ as used in
the passage?

a. Short b. Gentle e, Inclined

c.low - d. Gradual

173. Which of the following is most nearly the
opposite in meaning as the ward ‘Swings” as used in

the passage?
a. Slides h. Pendulum c. Stability
d. Position e. Altercation

' 1 74. In June, 1979, Brazil

a. intentionally restricted the supply of coffee to other nailc:ms
. thereby inereasing the price of the commodity

b. faced a never before witnessed frost which destroyed all
crops, propeliing the country into economic turmoil

¢. managed to contaln a major disaster with‘respect to coilee
production through its dedicated efforts

d. faced an unprecedented crisis with respect to corlee
production on account of frost freezing all its crops

e, None of the above

175. Which of the following is most nearly the same
in nmamng as the word ‘Sparingly” as used in the

passage?’

a. Abundantly

5. Compellingl
d. Seldom i

. Harely

176, Inorder to regulate the prices E!f cuffee

- d. coffee production countries have been asked to increase

their production of beans, creating an oversupply  +

b. stakeholders countries have tried in the past to bring order in
ihe supply of coffee beans

€. governments of coffee importing countries have tried to
dissuade citizens from taking to coffee drinking

d. stakeholders countries have nominated Brazil as the sale
controller of coffee production worldwide

e. None of the above

177. Which a:JF the following is most neaﬂy the same
in meaning as the word ‘Humble’ as used in the

passage? _
a. Lonely b. Modest c. Shy
d. Arrogant e. Ashamed

178. The author in the given passage

a. is definitely not an avid coffee drinker himself

h. thinks that Brazil should cut down on its coffee consumption

¢. believes that US is the ﬂnly place where coffee is abundantly
available

d. ridicules people who are addmted to coffee

e. seems to marvel over the popularity of coifee

179. Which of the following is the meaning of the
phrase ‘gives Brazilians the ]]ttEI‘S as mentioned in
the passage? |

4. |solates Brazilians from the rest of the world

. Emboldens Brazilians
¢. Worries Brazilians

¢, Makes Brazilians susceptible to the cold

a. Makes Brazilians lonely

180. As mentioned in the passage, factor/s which
attract/s the prices of coffee is/are

A. short-life span of coffee trees which produce poor
quality beans with a age and hatch very little
money

B. overproduction of coffee

C. extreme cold in the coffee producing country

a. Only A b. Only B c. Aand B
d. Band C 2. None of these

Directions (Q. Nos, 181- 180) Read each sentence fo fina

out whether there is any error in.it.the error, if any, will be
in one part of the sentence, The number of that part is the

answer. If there is no error, then answer is (o).

181. Challenges for the world have increased/ a

.great deal today and we need/ greater coordination

among nations/to cope with these.

a. Challenges for the world have increased
. a great deal today and we need

¢. greater coordination amaong nations

d. to cope with these

. No error

182. The World Bank report has found that/ last

year out of 45 economies, / 33 introduced reforms to/
make it easily to start a business.

a. The World Bank report has found that
0. last year out of 45 economies
€. 33 Infroduced reforms to

d. make it easily to start a business
e. No error
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ﬂ 7 the Central Ban

Hfh%hemfhﬂpiﬂg that farmers mil beneflt
| an effort to revitalise a $tagnani i .

B ;'.-1 ecenomy, the Central Bank h;

. . mare than $ 9 into them = purnped

. d.hoping that fafmers will benefit

e NO err:::rr i

33 ﬁi‘]_ eff{}rt tﬂ revitalise o stagnantf ﬂll‘al

o 134 me }u&.t telling consumers to go/ and buy

~ products and celebrating with/ their families, brands
- today are embedding/ social messages in their
- '.advertjﬁement%

. a. Fi"ﬂm just telling consumers to qo
. b. and buy products and celebrating with
¢ their families, brands today are embedding
 d. social messages in their ar:fverﬂsernenis
e e Nn i—‘:rn:ra'

. 135 The State is im}kmg to dlvermfjrf and has been

_ encouraging investments in/ sectors such as
~_ information technology/ to creating jobs for youth.
 a The State is looking to diversify
b and has been encouraging investments in
_c. sectors such as information technology
d.to creatmg thE for youth
e No eror

186. As {he gams from one set off reforms gradually
disappear, a country needs/ to initiate another sets of
returns/ to take its economy to the next level.

a, As the gains from one set of

b. reforms gradually disappear, a country needs

¢. to initiate another sets of returns

d. to take jts economy to the next level

€. No error.

187, 'Eﬁtfepreneurs today think ‘globally’ whetheu’
_ they are applied global ideas/ to the domestic market
~ or buildings /in India for the global market.

a Entrepreneurs today think ‘globally’ whether
b. they are applied global ideas
¢. to the domestic market or building products
- diinindia fcar ihe global market
- ‘e Mt:: error

188, Asa Chalrp
_ theright agenda so that all IﬂEI‘I‘thl /of the board can
add va]ue to discussions.

. afss Gharr;:}ersan one hasto

b wokhadioset

¢ ihe nght agenda S0 ’Ehat all mamber

- d olthe board can add vafue tr:r dIEGUEEIDﬂE
_-'_ewﬂerr{}r | i

. 139 B gwmg wamen act:ess tﬂ;’ better health

érsun one has to/ work hard to set/

= faﬂhties and education/ we can ensure that }JG"U’EI ty/ '
T reduces and the s,tan;:iard of iwmg unpn:wes - i

& By giving women access o -
b better health facilities and educa{:ﬂn

. €. we can ensure that poverty
d. reduces and the ataﬂdard r::f Ewlng :mpraves

'_':E N{jEfer

~ environment mmmtxy issued/ new norms last WEEk

a Wﬁh the aam of : ._
¢. the environment mlmstry fssued -
| Gf ﬂﬁw norms !ast week | Nﬂ errar

K has pumped/ more than .'

".1953 a encmlragmg
‘3’ fﬁﬂbie S e devastaimg
2 cnntrai!mg watar pmlutzﬂn e

' o "29!} a Gc}ntinuaiiy

Dlreciiuns {Q Nas 191-200) /n the following passage,

.fhere are blanks, each of which has been numbered.
'_;;_Agamsf each, five words are suggested, one of which fits
. g blank aﬁﬂrﬂg}rf&fe!y Find out the appropriate word in

ear:h r:ase i

~ Reminiscing about the good old days when we were
~_growing up is a memory trip well, worth taking when

trying to understand the issues (191) the children of
today. A mere 20 years ago, children used to play
outside all day, riding bikes and building forts. (192) of
Imaginary games, children of the past created their own
torm of play that didn't require costly equipment or
parental supervision, Children of the past moved ... a
lot, and their sensory world was nature based and
simple. Technology's impact on the 21st century family
15 (193) its very foundation, and causing a disintegration
of core values that long ago, were the fabric that held
families (194). TV, internet, video games, iPads, cell
phones have advanced so rapidly, that families have

~ (195) noticed the significant impact and changes to

their family structure and lifestyles. Children's
developing sensory, motor and attachment systems
have hioclogically not (196) to accommodate this
sedentary, yet frenzied and chaotic nature of today's
technology. The impact of rapidly advancing technology
on the developing child has seen an (197) in physical,
psychological and behaviour disorders that the health
and education systems are just beginning to detect,
much less (198).

II's important to come together as parents, teachers and
therapists to help society "wake up' and see the (199)
effects that technology is having on our children. While
technology is a train that will (200) move forward,
knowledge regarding its detrimental effects, and action
taken toward balancing the use of technology. all work
toward sustaining our children.

191. a by b. ahead ¢. plaguing
d. solving _ e. determining
192. a. Made b. Usage ¢. Kind
d. Contents - e. Masters
193. a. fracturing b. building c. comprising
d.mending e. breached |
194. a.beliefs  b.logether ¢ once
. 0. profected e. whole
- 195, a. failed b.'df_.e'f"i_nitelly' A scarcely |
g srientiy L e never e
. 1% o pmw:ied . b.enttusted  c. amanged
Ef E‘J[}E'ﬁfefj . Enﬂug}h : .- . . |
. _19? a. empathy -;ﬁ_'-fradpéfif;hz";”'-__-45- 'Fﬁpfﬁ‘-‘ﬂmmf
. Gnctesse. | o enlagoment _
'._3.-193 a Edentifymg bunderstand ﬂe"?ﬁﬂt

' - | ' . - 'd in‘rpﬂrtant L ..a?;'__fai}ai;a__t'_i_tm. -
| 190. W1th the ﬂlfﬂ utf contruiimgwater pﬁiluhﬂn/ the-

b cominon Eueﬂﬂn{:f_pﬂtﬁd -

b. rare!y | 'cﬁ-nav'e__r:__.
d reneatadiy S - cease ' '
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